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$OKDPGXOLOODKL�UDEELO¶�DODPLQ��SXML�V\XNXU�3HQXOLV�SDQMDWNDQ�NHKDGLUDW�$OODK�
6:7� NDUHQD� DWDV� OLPSDKDQ� UDKPDW� GDQ� KLGD\DK�1\D� VHKLQJJD� 3HQXOLV� GDSDW�
PHQ\HOHVDLNDQ� SHQ\XVXQDQ� VNULSVL� \DQJ� EHUMXGXO� ³3HQJDUXK� 7UDQIHU� 3ULFLQJ��
.HSHPLOLNDQ�,QVWLWXWLRQDO�GDQ�.RPLVDULV�,QGHSHQGHQ�7HUKDGDS�7D[�$YRLGDQFH �6WXGL�
SDGD� 3HUXVDKDDQ� 0DQXIDNWXU� \DQJ� WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� ������������
7XMXDQ� GDUL� SHQXOLVDQ� VNULSVL� LQL� LDODK� VHEDJDL� VDODK� VDWX� V\DUDW� NHOXOXVDQ� MHQMDQJ�
3HQGLGLNDQ�6���3URJUDP�6WXGL�$NXQWDQVL�)DNXOWDV�(NRQRPL�GDQ�%LVQLV��8QLYHUVLWDV�
7HONRP�%DQGXQJ�

6HODPD�SURVHV�SHQXOLVDQ�SHQJHUMDDQ�VNULSVL�LQL�3HQXOLV�PHQJKDGDSL�EHEHUDSD�
NHQGDOD�GDQ�KDPEDWDQ��VHKLQJJD�GDODP�SURVHV�SHQ\HOHVDLDQ�VNULSVL� LQL�3HQXOLV� WLGDN�
OHSDV�GDUL�GXNXQJDQ��EDQWXDQ��PRWLYDVL�GDQ�VHPDQJDW�GDUL�EHUEDJDL�SLKDN��2OHK�NDUHQD�
LWX��3HQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD�

�� .HGXD� RUDQJ� WXD� 3HQXOLV�� %DSDN� (GLVRQ� GDQ� ,EX� 6UL� :DK\XQL� \DQJ� VHODOX�
PHPEHULNDQ�GR¶D��PRWLYDVL�GDQ�VHPDQJDW�\DQJ�WDN�KHQWL�KHQWLQ\D�NHSDGD�3HQXOLV�

�� .HSDOD� 3URJUDP�6WXGL� 6���$NXQWDQVL� )DNXOWDV� (NRQRPL� GDQ�%LVQLV�8QLYHUVLWDV�
7HONRP��%DSDN�'HDQQHV�,V\QXZDUGKDQD��6�(��0�0

�� 'RVHQ�:DOL�$NXQWDQVL� &� ������ ,EX�9D\D� -XOLDQD�'LOODN� 6�(���0�0� \DQJ� WHODK�
PHPEHULNDQ�DUDKDQ�NHSDGD�SHQXOLV�

�� 'RVHQ�3HPELPELQJ�%DSDN�'XGL�3UDWRPR��6(7���0�$N�\DQJ� WHODK�PHPELPELQJ�
SHQXOLV� GHQJDQ� VDEDU� GDUL� DZDO� SHQ\XVXQDQ� VNULSVL� LQL� GDQ� WHODK� PHPEHULNDQ�
PDVXNDQ�VHUWD�PRWLYDVL�NHSDGD�3HQXOLV�

�� 6HOXUXK� GRVHQ� SHQJDMDU� 3URGL� $NXQWDQVL� \DQJ� WHODK� PHPEHULNDQ� LOPX� \DQJ�
EHUPDQIDDW�NHSDGD�3HQXOLV�

�� $GLNNX�WHUVD\DQJ��&DQWLND�/DG\�6RIILQD]�\DQJ�PHPEHULNDQ�PRWLYDVL��GXNXQJDQ�
GDQ�VHPDQJDW�NHSDGD�3HQXOLV�

�� 6HOXUXK�NHOXDUJD�SHQXOLV�\DQJ�WHODK�PHPEHULNDQ�GRD�GDQ�GXNXQJDQ�\DQJ�WDN�KHQWL�
KHQWLQ\D�NHSDGD�SHQXOLV�

�� 6DKDEDW�3HQXOLV�WHPDQ�VHSHUMXDQJDQ�GDODP�SHQJHUMDDQ�VNULSVL�LQL�4LQWDUL�5DKPDWL�
*XVWL��.DYLQLD�7DPDUD��+DQLVDK��=D]D�+XPDLGD�)LWUL��+HVWLD�1HQJVLK��)LWUL�$QMDQL��
GDQ�)LWULD�)HUWKD��

�� 7HPDQ�WHPDQ�SHQXOLV \DQJ� VHODOX�PHPEHULNDQ�PRWLYDVL� GDQ� VHPDQJDW��'LDQDGH�
3XWUL��=XOILNUL��$OLPDHGD��7DXILN�+LGD\DW��)HEULR�0DUWLQ�(]D��$GMH�GDIWD��)HEUXDUL�
5DPGDQL�� $KPDG� ILNUL�� 2VFDU� %XGLPDQ�� 0� 1XU� IXDGL�� 6HQD� 5HVHOLQD�� 'LPDV�
6DQMD\D��GDQ�$GOL\DQV\DK�



��� 7HPDQ�WHPDQ� SHQJXUXV� 5XPDK� *DGDQJ� 7HONRP� 8QLYHUVLW\� ����� GDQ� VHOXUXK�
DQJJRWD�5XPDK�*DGDQJ�7HONRP�8QLYHUVLW\�VHUWD�WHPDQ�WHPDQ�$NXQWDQVL�&������
\DQJ�WHODK�PHPEHULNDQ�GXNXQJDQ�NHSDGD�3HQXOLV�

��� 6HPXD� SLKDN� \DQJ� WLGDN� GDSDW� SHQXOLV� VHEXWNDQ� VDWX� SHU� VDWX� \DQJ� WHODK�
PHPEHULNDQ� GXNXQJDQ� VHPDQJDW�� PRWLYDVL�� PDVXNDQ�� NULWLN�� VDUDQ� GDQ� EDQWXDQ�
NHSDGD�SHQXOLV�GDODP�PHQ\HOHVDLNDQ�VNULSVL�LQL�

6HPRJD�$OODK�6:7�PHOLPSDKQ\D�UDKPDWQ\D�GDQ�PHPEDODV�NHEDLNDQ�VHPXD�SLKDN�
\DQJ�WHODK�PHPEDQWX�SHQXOLV�GDODP�SHQ\XVXQDQ�VNULSVL�LQL��3HQXOLV�PHQ\DGDUL�EDKZD�
VNULSVL�LQL�PDVLK�MDXK�GDUL�NHVHPSXUQDDQ��XQWXN�LWX�VDUDQ�GDQ�NULWLN�\DQJ�PHPEDQJXQ�
VDQJDW�SHQXOLV�KDUDSNDQ��6HPRJD�SHQXOLVDQ�VNULSVL�LQL�GDSDW�PHPEHULNDQ�PDQIDDW�EDJL�
VHPXD�SLKDN�
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